[6] DD-2708 .

THE—5
(UNIT—S5)

5. () frg B f
[

B(m,n) = ——, (m,n>0)

m+n’

Prove that :
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e rlogy re*

L _[0 J.l logzdydxdz
Evaluate :

; e rlogy re*

L Io' J-l log z dy dx dz
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and hence evaluate it.
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All questions are compulsory.'Attempt any fwo parts
of each Unit. All questions carry equal marks.
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Evaluate :

=[BT 9]

x 252 33y
+ =+ 4 +
e e o S
AR & T AT

Prove that the series :
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is convergent or divergent ?
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Test for convergence and absolute convergence of
series :
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Test for continuity of the following functionatx =0 :
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State and prove Cauchy mean value theorem.
el :
F@ =7 =4
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Verify Lagrange’s mean value theorem for the
function :

o=V -4
in the interval [2, 4].
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u=xsin""| —
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then prove that :

If:

- diy iy
H 2 — =
sin Zzgz_2 +sin 4z e +4y =0

BT WURRY tan z = e YEHR BIRY |
Transform the equation :

> :
sin2 22%+sin4z%+4y =0

by substitution tan z = e*.
g :
x = a cosh a cos

y =asinh o sin p

ot gufsy &5 -

S a4 20 - cos 2]

o(e.f) 2
If:
x=acoshacosf
y=asinhasinf

then show that :
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axseca — bycoseca = g2 — b2
@1 IR ST BN, el BT o Trae 2|
Find the envelope of the family of lines :

axseca — by coseco = g2 — b2

where the parameter is the angle a. ‘

ARRITT 2y = o? BT Dt T AT
Find the evolute of the hyperbola 2xy = a2.
o
ax? +by? £ ez =1
TR Ix +my + nz= 70
B AT w2212 B oD qur BT
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Find the maxima and minima value of the function
u=x?+y? 472 using the conditions-:
ax? +by? + 22 =1

and Ix + my + nz = Q.
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